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Convert to polar form.
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Plotting Complex #'s

ex) Plot each complex number in the complex plane.
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Absolute Value of a Complex Number
‘z| = ’a+bi| =va’ +b’

Ex2) Find the absolute value of each.
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Po!ar Form of a Complex Number
rcciranouiqr,

z—a+b1 in polar is z—r(cost9+zsm9)
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where a—rcos@ b—rsmq,,r—‘\/a +b2 and ¢ tan@—b
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ex3) Graph z=-2-2i then Ex4) Write z=2(cos60°+isin60°)
find the polar form of z, in rectangular form
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Product of Two complex numbers in polar form

z,=r(cosf, +isinf) and z,=r/(cosé, +isind,)

z,2, = K[ cos(6, +6,) +isin(6, +6,)]

February 10, 2017

exb) Find the product of z1 and z2, leave in polar form.
z, =4(cos 50° +isin 50°) z, =7(cos100° +isin100°)
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Quotient of Two complex numbers in polar form.

z, =r(cosé, +isinf) and z,=r(cosb,+isind,)

2 = Dlcos(6, - 0,) +isin(8, —6,)]
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ex6) Find the quotient of , leave in polar form.
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g = 12(0053% +isin 255) zZ,= 4(cos%+ isin %)



DeMoiure's Tncorei
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